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’ 100kN/mM##BZ % 1.00/0.00 ~ 093 113.93|3mZEBZB| - ~ - - -| 100kN/MZE#B 2% 1.00] 11.27 ~ 1481 113.93|3m%i#B% % -~ - - -
ZThES 1.00/ 093 ~ 871 100.00| Z#4LLi4% | 0.00 8.71] 2.02 10.80 ZTh LSt 1.00] 500 ~ 11.27 100.00f Zh it | 500 ~ 14.81] 202 10.80
9 100kN/mM#%# 8% % 1.00/ 000 ~ 295 146.83| 3m%iE % 5| 0.00 0.17] 3.09 16.56] 100kN/mMZ# %% 1.00| 1055 ~ 25.20 146.83|3m%#E% 5| 25.00 ~ 25.20| 3.09 16.56
ZTh LS 1.00] 295 ~ 10.74 100.00] Zhlist | 0.17 10.74] 3.00 16.05 Zh LS 1.00] 500 ~ 1055 100.00| #hlist | 5.00 ~ 25.00| 3.00 16.05
3 100kN/mM#%# 8% % 1.00/ 000 ~ 259 140.69|3mZ#BRB| - - - -| 100kN/iZi#8 % % 1.00[ 10.75 ~ 25.06 140.69|3m%i#BZ 5 -~ - - -
ZhLS 1.00] 259 ~ 10.37 100.00] ZHList | 0.00 10.37| 2.91 15.60 Zh LS 1.00] 500 ~ 10.75 100.00f Zhlist | 500 ~ 25.06] 291 15.60
5 100kN/mM#%#BZ % -1 -~ - -|amEB2S| - - - -| 100kN/mZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZThLS 1.00/ 000 ~ 7.16 91.05] Zh s |0.00 7.16| 1.72 9.20 Zh LS 1.00] 500 ~ 9.10 91.05| Zhils | 500 ~ 9.10| 1.72 9.20
6 100kN/mM#%# 8% % 1.00/ 000 ~ 1.77 12714|3mZE#BRD| - - - -| 100kN/iZi#8 % % 1.00| 1057 ~ 16.70 127.14|3m%#BZ % -~ - - -
ZTh LS 1.00/1.77 ~ 955 100.00] Z+#List | 0.00 955| 242 12.97 Zh LS 1.00] 500 ~ 1057 100.00| #hlust | 500 ~ 16.70| 2.42 12.97
7 100kN/mM#%# 8% % -1 -~ - -|amEB2S| - - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 7.01 88.90] =nList |0.00 701| 187 10.02 Zh LS 1.00] 500 ~ 900 88.90] #hbLlst | 500 ~ 900| 1.87 10.02
8 100kN/mM##BZ % -l -~ - -|3mxEZB| - - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00]0.00 ~ 6.74 85.17| Z=h L4t | 0.00 6.74] 1.90 10.18 Zzh st 1.00f 500 ~ 8.60 85.17| #n Ll | 500 ~ 8.60[ 1.90 10.18
9 100kN/mM##BZ % 1.00{0.00 ~ 0.09 101.29|3m%EHB %% - - - -| 100kN/ %8z % 1.00| 10.75 ~ 11.00 101.29|3m%E# %% -~ - - -
ZnLst 1.00{ 0.09 ~ 7.87 100.00f ZHh List | 0.00 7.87] 2.09 11.18 Zh st 1.00f 5.00 ~ 10.75 100.00f Z1List | 500 ~ 11.00f 2.09 11.18
11 100kN/mM##BZ % -l -~ - -|3mzEZB| - - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 6.63 83.66] Z=n L4t | 0.00 6.63] 1.68 8.96 Zh st 1.00f 500 ~ 8.10 83.66] zn Ly | 500 ~ 8.10[ 1.68 8.96
12 100kN/mM##BZ % -l -~ - -|3mxEZB| - - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 6.45 81.24] Z=hList | 0.00 6.45] 1.69 9.05 Zh st 1.00f 500 ~ 7.70 81.24| Zh Ll | 500 ~ 7.70[ 1.69 9.05
13 100kN/m##BZ % -l -~ - -|3mzEZB| - - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 7.27 92.64| Zh it | 0.00 7.27| 1.66 8.91 Zh st 1.00f 500 ~ 9.60 92.64| ZhLis | 500 ~ 9.60 1.66 8.91
100kN/mM%#EZ % ~ ImEHEZD 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s Zh LS ~ ZhLS ~
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